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Ml 9l Al =
o . - 20244 20254 s bl o = - 20244 20254 s bl
- = X0l AHB) | EE0lAKB) (B-A) (%) - - B SEOAHB) | EE04AHB) (B-A) (%)
Z 2,207,010 | 2,371,796 164,786 7.5 =D 2,207,010 | 2,371,796 164,786 7.5
At 2=l A 78,610 78,610 = - A=l A 7 1,570,924 1,633,935 63,011 4.0
01) | Algigl A 3 78,610 78,610 - - (01) o124t A H 1,463,126 1,526,737 63,611 4.3
(11) T2 2AIAQ 2,230 2,230 - - (11) 204(111) 995,641 1,043,537 47,896 4.8
(111) H2=H(112) 230, 137 235,488 5,351 2.3
B o1 0I M AL I 2 0 49,800 49,800 - - XM 2(115) 102,761 107,026 4,265 4.2
(112) MBI E 2 Z(116) 126,287 131,686 5,399 4.3
AlCHS O AL 1 2 0 24,400 24,400 - - JIEF S MAHI(117) 8,300 9,000 700 8.4
(113) == A 3 18,400 19,600 1,200 6.5
JIEFALS 20 2,180 2,180 - - EPSEE] JjZegd|(121) 3,600 3,600 -
(114) (12) = R H|(122) 11,400 12,000 600 5.3
8x=2 | A I 1,867,809 | 1,958,654 90,845 4.9 3| olHl (123) 3,400 4,000 600 17.6
20 2x2 A 3 1,867,809 | 1,958,654 90,845 4.9 29y A 3 89,398 87,598 |- 1,800 |- 2.0
(03) &9 ANEEX2(312) 1,762,177 | 1,852,334 90, 157 5.1 (13) O4HI(131) 9,600 7,800 |- 1,800 |- 18.8
(31) L2H Y222 (132) 27,488 27,488 -
JIEFR =2(314) 105,632 106,320 688 0.7 2ZQ32(133) 27,240 27,240 - -
HAIZ D2 (134) 14,910 14,910 - -
XHEFHI(135) 5,040 5,040 - -
o1 2 H|(136) - - - -
JIEF2 2 H|(137) 5,120 5,120 - -
s22 | A I 68,410 80,620 12,210 17.8 TH Ak A 15,350 37,250 21,900 142.7
20 EEE A 68,410 80,620 12,210 178 =&l Al & H| A 15,350 37,250 21,900 142.7
(04) 20 XNES2A2400(411) 50,410 62,620 12,210 24.2 (02) (21) A& HI(211) 500 500 - -
(41) HINRS2AZ242(412) 18,000 18,000 - - XHAHE S| (212) 4,000 4,000 - -
Al & B HIS X (213) 10,850 12,750 1,900 17.5
IS E2AA(214) - 20,000 20,000 100.0
=2 | A 25,000 25,000 = - Al A 530,796 548, 111 17,315 3.3
(06) Heolz A 25,000 25,000 - - (03) =32 A 400,764 405,191 4,427 1.1
(61) BOIFMQI2(611) 25,000 25,000 - - Abeit] ohele X2 H &l 2.l (311) 3,630 6,000 2,370 65.3
golMe=2(523) - - - - (31) SM(XI2)AASE(312) 7,976 6,000 |- 1,976 |- 24.8
(612) Qe == X 2 (313) 36,964 27,920 |- 9,044 |- 24.5
XX 2 (314) 4,378 10,250 5,872 134.1
JHE (KX XI(315) 8,885 3,830 |- 5,055 |- 56.9
A ZR2IL AU Z25(316) 3,080 1,755 |- 1,325 |- 43.0
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Al el Al =
o = = 20244 20254 s IS 2 = = 20244 2025\ s bl
- - B S0 AM(B) | EEAHB) (B-A) (%) - - B SR AB) | EE0A(B) (B-A) (%)
=7 2,207,010 | 2,371,796 164,786 7.5 =7 2,207,010 | 2,371,796 164,786 7.5
NES A 163,381 225,112 61,731 37.8 X AHSI S A K2 A HIA(317) 31,861 34,930 3,089 9.6
(07) olg= A 3 163,381 225,112 61,731 37.8 JIEEBY2A KA (318) 60,145 67,100 6,955 11.6
(71) HEACOIR2(711) 90,000 104,500 14,500 16. 1 NS E2XIA(319) 38,145 37,160 |- 985 -
HACOIE25A2(712) 30,621 27,266 |- 3,355 |-  11.0 Al 2 AL (31A) 55,600 55,600 - -
HEACOIR22X2(713) 42,730 93,316 50,586 118.4 8 A HIH A A (318) 150,100 154,646 4,546 3.0

SIEL= == 30 30 - -
QAEXA2(714) BENE A 130,032 142,920 12,888 9.9
&0l A 3,800 3,800 = - MHl | SZEZALT20/AH (321) 80,220 80,220 - -
(08) I 20l A 7 3,800 3,800 - - (32) NP3 1S(322) 15,912 15,900 |- 12 - 0.1
(81) E2Z0H2H(811) 520 520 - - SHal &2 [ X2 A (325) - 5,000 5,000 100.0
JIEFOI 20l KH4 2 (812) 160 160 - - 0] % = AFEHXI 2 AFES (326) - 6,000 6,000 100.0
JIEHE 201(813) 3,120 3,120 - - SNSRI AN (32A) 5,000 5,000 - -
KDBAHR! 2 8 X| 2 A} 21 (328) 6,000 8,000 - -
2H T AIZ2AHY (320) 22,900 21,800 |- 1,100 |- 4.8
S OAXHS XX AR (32D) - 3,000 3,000 100.0
JEcHE | QES A 1,000 1,000 - -
04) XS (41) DE X = (411) 1,000 1,000 - -
TSNS FIONES A 500 500 = =
(06) (61) X Z(611) 500 500 - -
ol 51 bl oll bl bl A 88,440 151,000 62,560 70.7
L JIEF | ¥ DIE oIl (711) 45,710 57,684 11,974 26.2
(07) (71) BHEH2 (712) 42,730 93,316 50,586 118.4
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